2"x6" CEDAR GATE RAIL

3/8"x2-1/2" ZINC PLATED MACHINE BOLT WITH
WASHER AND NUT

GALVANIZED STEEL PIPE GATE FRAME
6"x6" CEDAR POST

3/4"x12" HINGE BOLT WITH WASHER AND NUT
ON BOTH SIDES OF POST

GALVANIZED GATE FERRULE

3/8"x8" ZINC PLATED CARRIAGE BOLT WITH WASHER
AND NUT ON ONE SIDE OF POST.

HINGE DETAIL

3-1/2" HOT DIPPED GALVANIZED ARDOX NAIL. (USE
ONE PER FENCE RAIL FOR SUPPORT DURING
DRILLING FOR CARRIAGE BOLT).

—=—— GATE FRAME 1-11/16" HOT DIPPED GALVANIZED
STEEL PIPE

2

6"

LATCH TO BE 2" IN HEIGHT X 1-1/2" IN WIDTH. ONE
EACH TO BE WELDED TO GATE FRAME AND CANE BOLT.

CANE BOLT SUPPORT SLEEVE, 1-11/16" GALVANIZED
STEEL PIPE, WELD TO GATE FRAME

on
|-

+-2'

—

3'MIN
CONCRETE ANCHOR

CANE BOLT, 1-5/16" OD GALVANIZED STEEL PIPE

CANE BOLT ANCHOR, 1-11/16"x24" GALVANIZED STEEL PIPE

LOCKING MECHANISM DETAIL

10"

NO. REVISION APR'D DATE
2 STANDARD No. 603 NOW 619 JAN 18
1 STANDARD No. 911 NOW 603 JUNE 08

PADLOCK LATCH MADE FROM 3/8" GALVANIZED STEEL ROD.

TOWN OF CALEDON

C.C.

APR'D:

pate: DEC. 1999

TRAILWAY ENTRY GATE
HINGE DETAIL

DRAWN:

N.T.S.

SCALE:

STANDARD No. 619




	Sheets and Views
	DWG603-Model


